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S 2,504 2,435 2,740 5,175
AR H X 5,032 5,490 5,731 11,221
N AR RS 8,206/ 8,552 9,341 17,893
Fe] 971 BE HH X 5,003 5,549 5,851 11,400
b = H X 2,209 2,331 2,508 4,839
= G 40,344 42,638 45,092 87,730
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AT 27 24 25 49 iR 1 TH 0 0 0 0 w4 TH 14 14 19 33
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AT 29 28 28 56 AMRJE S T H 245 272 298 570 GHRIE 6 T H 137 136 141 277
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CRR) 18 15 14 29 ST 299 324 343 667 I (R 211 125 202 327
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W AT 223 194 29 223 471 TH 334 351 361 712 R O SR T 160 105 174 279
S ERT 1T 97 104 93 197 A2 TH 187 232 233 465 % [ BPAT 414 399 414 813
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W AT 3 T H 14 10 9 19 2 T H 425 477 316 793 o UK 2,504 2,435 2,740 5,175
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T 1T A 209 215 182 397 GRE1TH 108 101 120 221 $ AT 1,063 1,229 1,247 2,476
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2 0T 1,558 1,680 1,773 3,453
Tz 1,344 1,442 1,536 2,978
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EARHIX 5,032 5,490 5,731 11,221
K 3,532 3,753 4,018 7,771
K 443 471 514 985
GE ] 217 261 273 534
s 939 1,086 1,129 2,215
L 1,199 1,281 1,404 2,685
BT 58 70 72 142
K H 542 361 522 883
M1 T H 194 144 181 325
B2 T H 329 340 349 689
W3 TH 85 66 66 132
BT 4 TH 217|245 276 521
FTS T H 392 17| 465 882
6 T H 59 57 72 129
R E Ok ) 0 0 0 0
K HHOIX 3 8,206 8,552 9,341 17,893
BT 1,343 1,426 1,563 2,989
ity 622 7000 699 1,399
M 356 386 410 796
e 159 181 206| 387
faff 1,511 1,724 1,778 3,502
Jeils 102 108 111 219
FR 115 123 139 262
S 226/ 270 283 553
FTHRBE 1 T H 374 394 428] 822
G2 T 195 237\ 234 471
TR MK 2 5,003 5,549 5,851 11,400
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e 888 977 1,033 2,010
A 732 755 798 1,553
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